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6 SHF 63.49 18.58 119.23 39.74
555 62.70 18.32 117.66 39.22
g ST 200.93 46.55 387.53 96.88
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(unit : mm)
E/ ! #Q 2 gA
j; S ¢D L L1 | oD1 | PCD = X | @Y z 2 |57
®d) U= n
6 SLF6 14 25 6 30 22 34 | 65 45 1 75 2
8 SLF8 16 = 27 8 32 24 34 | 65 45 15 | 75 2
10 | SLF10 21 33 9 42 32 45 8 4 15 105 2
13 | SLF13 | 24 36 9 44 33 45 8 45 15 | 11 2
16 SLF16 = 31 50 10 51 40 45 8 6 2 18 2
20 SLF20 | 35 56 10 | 58 45 55 | 95 54 2 18 2
25 | SLF25 42 71 13 65 52 55 95 8 3 265 4
30  SLF30 47 80 13 | 75 60 66 11 8 3 30 4
40 SLF40 @ 64 100 18 | 100 @ 82 9 14 12 4 36 4
50 SLF50 80 | 125 20 124 102 11 175 12 4 465 4
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HZT AZE
(unit : mm)
o 72845t 7|2d4Ea FEES g2 A
Sy ¢d1 (ih,:) (kgf) (kgf.m) E (kgfm) | (kg)/ (kg/m)
o=
53 3% C | 0 « | Ccr | MAT MA2 u4E |EZ%|33%
SLF6 6 _0815 525 2 137 | 225 046 076 039 348 004 022 0.18
SLF8 8 _0315 727 3 137 | 225 06 099 039 382 005 04 033
SLF10 | 10 _0818 897 4 285 397 162 225 095 853 01 06 051
SLF13 | 13 _0815 1182 7 396 540 289 394 15 1246 012 103 088
SLF16 | 16 _0318 1472 8 545 849 477 743 371 2609 023 156 125
SLF20 | 20 _0%21 1863 10 724 1109 79 1209 553 38 03 244 182
SLF25 | 25 _O%m 2343 15 1003 1593 2199 4301 1035 6859 046 38 292
SLF30 | 30 _0825 2853 16 1160 1980 306 6293 1568 9327 063 55  3.93
SLF40 | 40 _0825 373 20 2972 4033 10537 176.05 36.59 24634 14 97 675
SLF50 | 50 _0830 4705 26 4086 5615 179.89 304.35 51.58 42872 2.8 152 114
MAT : StLIS| HEE A8t 4% 42 58 ZHEE LIEfH LT
MA2 : 712 HEE AI85t= 8% U 518 RHEE LIEFHL T
MA1 MAZ2
. o _ n
B SE} 7
] 1 I 1
] 1 [ 1
;] 5} td
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(@) = 1L
SLT AEH 2AZ30
K2
c 4HRK
| a
i 7 & e
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\
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L
(unit : mm)
=74 K K1 K2 ® CR PN
=L ¢D L L1 . ==
(¢d) ~
H8 +0.05/0 A= n
6 SLT6 14 25 125 25 1.2 10.5 1 2
8 SLT8 16 27 135 25 1.2 10.5 15 2
10 = SLT10 21 33 16.5 3 15 13 15 2
13 SLT13 24 36 18 3 15 15 15 2
16 SLT16 31 50 25 35 2 17.5 2 2
20 SLT20 35 56 28 4 25 29 2 2
25  SLT25 42 71 355 4 25 36 3 4
30  SLT30 47 80 40 4 25 42 3 4
40 | SLT40 64 100 50 6 35 52 4 4
50  SLT50 80 125 62.5 8 4 58 4 4
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¢d 20 O|s}
HZT AZE
(unit : mm)
o 712845t 7|284Ea  HES R FA
Sy ¢d1 (ih,:) (kgf) (kgf.m) E (kgfm) | (kg)/ (kg/m)
o=
53 3% C | 0 « | Ccr | MAT MA2 u4E |EZ%|33%
SLT6 | 6 _0815 525 2 137 | 225 046 076 039 348 002 022 0.18
SLT8 8 _0315 727 3 137 | 225 06 099 039 382 002 04 033
SLT10 | 10 _0818 897 4 285 | 397 162 225 095 853 004 06 0.5
SLT13 13 _0815 1182 7 396 | 540 289 394 15 1246 005 1.03 0.88
SLT16 16 _0318 1472 8 | 545 | 849 477 743 371 2609 013 156 125
SLT20 20 _0%21 1863 10 724 1109 7.9 1209 553 38 019 244 182
SLT25 | 25 _O%m 2343 15 1003 1593 2199 4301 1035 6859 03 38 292
SLT30 | 30 _0825 2853 16 | 1160 1980 30.26 62.93 1568 9327 04 55 3.93
SLT40 | 40 _0325 373 20 | 2972 4033 10537 176.05 36.59 24634 085 9.7 675
SLT50 | 50 _Oggo 4705 26 4086 5615 179.89 30435 51.58 42872 1.8 152 114
MA1 : StLES| HEE AE5t= 4% U 58 HHEZS LIEt-L|CH
MA2 : F71e| HEE At85t= 4% U 5|8 HHEZE LIEt-L|CH
MA1 MA2
_ L _ w
| I 1 ] 1
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